Clackmannanshire Council

Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 5 Clackmannanshire East

3,315

3

829

Stage 1

| Candidate Name | Affiliation | | No. of Ballot Papers |
|-----------------------------|------------------------------------|-------|----------------------|
| Les CALDERWOOD | Independent | | 75 |
| Denis COYNE | Scottish Conservative and Unionist | | 1,008 |
| Neil GAULT | Scottish Conservative and Unionist | | 229 |
| Scott HARRISON | Scottish National Party (SNP) | | 1,021 |
| Kathleen Mary MARTIN | Scottish Labour Party | | 650 |
| Angus James MacDonald MYLES | Scottish Liberal Democrats | | 123 |
| Marion ROBERTSON | Scottish Green Party | | 209 |
| | | Total | 3,315 |

Candidate Denis COYNE Elected with 1,008 votes, being in excess of the quota of 829 Candidate Scott HARRISON Elected with 1,021 votes, being in excess of the quota of 829

This report contains the transfers results.

Stage 2 - Surplus of Scott HARRISON

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---|-------------------------|----------------|-------------------|
| Transfer to Les CALDERWOOD | 36 | 0.18805 | 6.76980 |
| Transfer to Neil GAULT | 17 | 0.18805 | 3.19685 |
| Transfer to Kathleen Mary MARTIN | 186 | 0.18805 | 34.97730 |
| Transfer to Angus James MacDonald MYLES | 67 | 0.18805 | 12.59935 |
| Transfer to Marion ROBERTSON | 495 | 0.18805 | 93.08475 |
| | | | |
| No further preference | 220 | 0.18805 | 41.37100 |
| Not transferred due to rounding | | | 0.00095 |
| | Total | | 192.00000 |

This report contains the transfers results.

Stage 3 - Surplus of Denis COYNE

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---|-------------------------|----------------|-------------------|
| Transfer to Les CALDERWOOD | 17 | 0.17757 | 3.01869 |
| Transfer to Neil GAULT | 856 | 0.17757 | 151.99992 |
| Transfer to Kathleen Mary MARTIN | 42 | 0.17757 | 7.45794 |
| Transfer to Angus James MacDonald MYLES | 27 | 0.17757 | 4.79439 |
| Transfer to Marion ROBERTSON | 18 | 0.17757 | 3.19626 |
| | | | |
| No further preference | 48 | 0.17757 | 8.52336 |
| Not transferred due to rounding | | | 0.00944 |
| | Total | | 179.00000 |

This report contains the transfers results.

Stage 4 - Exclusion of Les CALDERWOOD

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---|-------------------------|----------------|-------------------|
| Transfer to Neil GAULT | 18 | 1.00000 | 18.00000 |
| Transfer to Kathleen Mary MARTIN | 15 | 1.00000 | 15.00000 |
| Transfer to Angus James MacDonald MYLES | 12 | 1.00000 | 12.00000 |
| Transfer to Marion ROBERTSON | 15 | 1.00000 | 15.00000 |
| Transfer to Neil GAULT | 5 | 0.18805 | 0.94025 |
| Transfer to Kathleen Mary MARTIN | 8 | 0.18805 | 1.50440 |
| Transfer to Angus James MacDonald MYLES | 3 | 0.18805 | 0.56415 |
| Transfer to Marion ROBERTSON | 16 | 0.18805 | 3.00880 |
| Transfer to Neil GAULT | 10 | 0.17757 | 1.77570 |
| Transfer to Kathleen Mary MARTIN | 1 | 0.17757 | 0.17757 |
| Transfer to Angus James MacDonald MYLES | 2 | 0.17757 | 0.35514 |
| Transfer to Marion ROBERTSON | 1 | 0.17757 | 0.17757 |
| | | | |
| No further preference | 15 | 1.00000 | 15.00000 |
| No further preference | 4 | 0.18805 | 0.75220 |
| No further preference | 3 | 0.17757 | 0.53271 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 84.78849 |

This report contains the transfers results.

Stage 5 - Exclusion of Angus James MacDonald MYLES

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|----------------------------------|-------------------------|----------------|-------------------|
| Transfer to Neil GAULT | 10 | 1.00000 | 10.00000 |
| Transfer to Kathleen Mary MARTIN | 47 | 1.00000 | 47.00000 |
| Transfer to Marion ROBERTSON | 45 | 1.00000 | 45.00000 |
| Transfer to Kathleen Mary MARTIN | 16 | 0.18805 | 3.00880 |
| Transfer to Marion ROBERTSON | 39 | 0.18805 | 7.33395 |
| Transfer to Neil GAULT | 9 | 0.17757 | 1.59813 |
| Transfer to Kathleen Mary MARTIN | 6 | 0.17757 | 1.06542 |
| Transfer to Marion ROBERTSON | 7 | 0.17757 | 1.24299 |
| No further preference | 33 | 1.00000 | 33.00000 |
| No further preference | 15 | 0.18805 | 2.82075 |
| No further preference | 7 | 0.17757 | 1.24299 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 153.31303 |

This report contains the transfers results.

Stage 6 - Exclusion of Marion ROBERTSON

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|----------------------------------|-------------------------|----------------|-------------------|
| Transfer to Neil GAULT | 15 | 1.00000 | 15.00000 |
| Transfer to Kathleen Mary MARTIN | 147 | 1.00000 | 147.00000 |
| Transfer to Neil GAULT | 12 | 0.18805 | 2.25660 |
| Transfer to Kathleen Mary MARTIN | 230 | 0.18805 | 43.25150 |
| Transfer to Neil GAULT | 6 | 0.17757 | 1.06542 |
| Transfer to Kathleen Mary MARTIN | 5 | 0.17757 | 0.88785 |
| | | | |
| No further preference | 107 | 1.00000 | 107.00000 |
| No further preference | 308 | 0.18805 | 57.91940 |
| No further preference | 15 | 0.17757 | 2.66355 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 377.04432 |